B 6 FE FRHITEFER

SH6EE R6.4.5 BIEDLOIANET. S8, FHEL KN TEBABBAEIEVET, ELIVASE i i
AR 125

48 58 65 78 8H 98 108 118 128 15 28 38
1|8 K|mrE (1R |+ B |kh72 veErsma | A 1|8 Y &|za2 =] 1 |k|xe + +
2 |x | emm =] D & 2 | Aot KIEEE e + B|emtmars | 2 |Alunsmzs |8 =]
3 |k &|mrrae B UNEEES + 3 |k * B|xfos x 3 |&|uRimmzE |8 B |wn 3senan
4 |k +|zenom o *x = 4 |Kk|zE2 & B e SETES 4|t K [Fmpmmon | k| FRATRER
5 | & [sest-mes B|7etom UNESES & B 5 | & + | =@ * 5|8 SNETES SESES
6|+t B |imeera | AR + n 6|& B |merEns B elunEzss | 6 |B|esherT X *
7 |8 A|miE Fw | &|Eies B|ms-7s * 7 |t|e2mmane |8 | =mmn it 7 | o R & &

RA&E (FAEE) _ ’T;; . - — PERHE
8 [Alesms 030 [x|zmz i e R I E n e B 8 [k i -t
9 % * = X 2| uR e 9 |A|Euzas K|EEEas T [ e I= 9 |x B =]
|k |e A |sriae P + 10|« * B w 10|% A A
E1$*E§ﬁﬁ%ﬁ — - .
11| &|TEmE | OEREEEE * B|wos 11|k | prmssease & B|==m# K|EEmas 1|+ n|pEEsoE | A |uRimgs
12|gffEme 0 g k|BEmas £ o A |mama 12 | et + o |=ms * 128 P/ e PN |5 TEPS
13|+ = K| (EnslchrgzRn | £ K|uRimEE | 13| & [HResee = PN & 13| A|sroB oK ez 2w | K
148 DY & ;;ﬂ;g::i?'\ 5] | R etz 14|+ B |z#k-vom * + 14| n 2 |wmmsrn 10m |2
15| Bt e | K| | e ms| B | BOE | R etz 15|18 N |wmEmee | &|Eusas B 15 |k |=E2 + +
16 | & ggigﬁ; TEHE = X |vmmmzs | 16| 8 [szon K |mEsm | e | B 16 | & 5] =]
17 |k |ErsmEy | &|wmme B T 7 + 17| x B |umerasmisran| A 17|22 B B|URIREES
18 | K |2mEss T [mimmee |t PN =] 18 | k| BESH el s | P k| mEsE 18 | | P K [P X
19|t s |E K| &|xmp-2nes | A |URFH0R 19|# + U * 19 | B[P K| aa |
20 | = B|BE&RR2 N EEZ IR0 SEl N N 20 | & = K R & 20 (R PN K|FEHOH
21| H N & H 7K ;féiﬁ AR 21|t A PN * 21| K & |FEowerEEs | £ |
2|8 | mEam + B|mzhe | U1 F 27 22 |B|usos Y & B 22 | k|Eumas + +
23| X iiiﬁ KRR (2R = N S 23 | A [Ir&RE K|MMG T om0 AlxiEm-erge | 23|k H|xz5mem =]
20| ([R5 & B |masE x + 24| K P [EERGEE s No] (R PYEE S I P B |Fehe B [Tt s
25 | & |mrvine + Y * = 25 |k |tmmmismsrat | @ |2esm B x 25| t|mammeen |« PYEZS 353
26 | & [F7 IR glysvomm 7 & B 26 | A |tmmmismarar |+ |aenmane xR * 26 |B|mEmsirs  [Kk|res 7K
27|+ Blse=ame |& + x s E PNEZ= & 27|8 *|FRawers |&
PERIGK.
28|8 x &|rEan =] * 28|+ B K|vgmhmar |+ 28| & & |masn
29| A |mHoa K |peam i B * 29|8 x 2|wmipmzar |8 29 |k |mEsm +
TR 1 - - —

30 | K)o o rmenta * B X @|Fsteer | 30(8 x + Blummmzs | 30 | #|wsmen o =
31 & B K + 31 FNEL- = N|URIgEER | 31| & | P I=
1
=




